Algebra 1 Name KE7I ID: 1
Chapter 6 Practice Test (2022) Date Period

NOTE: 8 pts each unless otherwise stated

Draw a graph for each inequality. (2pts each)
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Write an inequality for each graph b elow the graph. bse the variable "Xl and circle your
answer. (2pts each)
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9) (8pts) A park charges $8 for a mat to go down a water slide. It costs $2.50 for each ride down the
slide. You have a $30 allowance to spend at the park. How m ide rides can i

your allowance? KT: $8 met #3'501‘5 Jide $30 allowmacnce
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(8PTS) SOLVE each inequality. Circle the solution. Then GRAPH its solution.
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(6PTS) SOLVE each compound inequality. Circle the solution. Then GRAPH its solution.
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(continue) SOLVE each compound inequality. Circle the solution. Then GRAPH its solution.
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BONUS (+2,14) solve absolute value equations
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